CER

[ % 7 29
R T
| REix
AMELE 1 3 58k (1 14% 1 HBEER)
TRMTEEERIRERMDEERBERES

oA F TA 29B

(58%) EEEHE

by PRTALRTS£4%
G 3
I & 6 &
% PR b =2
» &SRR T |
B F &R QAETRY > THBISORNRESEZ - HEK
ﬂ@%ﬁﬂ%éﬁ%?%m,%ﬁﬁiﬁjrﬁgaa%Tbt@v_@ﬁ
HEHRITRERRDAXHEME 1 148 1 EOREIC LY, BREES
WX THRELET,

W) &5 (o B i S AR L 7P2000 =]
MBS HE KK E o M

B84 Wk HH s02000. M



WIS S SR (F6AH 208, 1 1 555 2 R
HETRERMHEHEE - WiRE
1. LED#RIT
T T ¥ R (HEBAAUEE (A RPHo0 1
(A) X 8. 5/10 (M@0 O 7824y H
, fR o4 fis!
BB | To% K p vy IO 1T 3t |
g | STEST W|76, 000M | X £ = !
OBE B0z g wls4, 000Mm|x | gk = 2P2p00
LB oD | FR THET Wi{76, 000M|X AT = - H
"BE | rRon W|34, 000/ X = M
cmm | THSD W76, 000/ X "= M
CBE | rRos W[34, 000M|x | 4T!= &
& it @ | 7P 2000 M
WO & H 0O QL0 bLRE sfdp0p M
2. L E DERIT U OBRAT
BB I I ¥ B (HESrahen) (B) M
(B) X 8/10 (HR#HveT) @ M
R JicA G|
om | Tow K s lvsra) UEIEIP :
CEOEAT e TR | W64, 000F | X | f1|= g
© UK OER AT . Ei ‘
( ) 4T ITROH W[25, 000 | X #T | = ]
?‘;%’EE g | FESD W|64, 000/ x| 4= M
g ™ raon Wi25, 000/ | x| 41]= e
= B ® IIJ
WO & B O® @reniblnviE M
3.ZEBBE
B T T ¥ B (H&Fzahem) (C) M
(C) x 8/10 (MKHWIYHT @ P
B BE H
% E B R & © 11,000M x| 8= m
#w B & f# © (@05 ARV M

R

2 (B+B+©)

782 000

M




